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1. EEBEOB
(1) BEIRE
ZMEE 4,095, 000 4,205, 000 A 110,000
ZEXNEE 4,012, 500 4,125,000 A 112,500
EWSEZME 82, 500 80, 000 2,500
ZMAENEF 6, 140, 060 5,922, 830 217, 230
ZIREMHBPE 1, 940, 460 1,828, 030 112,430
ZWMEREMREREEE 4,125, 600 4,044, 800 80, 800
ZMEFEMRE 50, 000 50, 000 0
RWMEREMBE 24,000 0 24,000
e E 433, 409 245, 146 188, 263
ZEFR 3, 409 146 3,263
IR 430, 000 245, 000 185, 000
[ # & I & & ] 10, 668, 469 10,372, 976 295, 493
2) BEER
BEXR 8,271,243 8,817,299 A 540, 056
HHFY 3,121,200 3,030, 165 91,035
RBRER 310, 386 271, 440 32, 946
BAIEEE 519, 653 511,919 1,734
EY 80, 381 210, 105 A 129,724
REXEE 231,736 441, 363 A 203, 627
BIEERE 395, 523 435, 341 A 39,818
HEMSRERE 15,292 3, 451 11, 841
HERE 81,712 91, 335 A 9,623
SRy X = 507, 390 572, 459 A 65,069
SHKHE 35, 453 45, 958 A 10, 505
gEH 514,998 514,998 0
& FAwHE 1,092, 165 991, 361 100, 804
AHE 235, 325 123, 364 111, 961
XhEEE 123, 759 158, 759 A 35,000
EitE 555, 882 944, 162 A 388,280
RI5E 39, 640 39, 880 A 240
LEELRE 11,000 37,950 A 26,950
1) —R % 208, 746 206, 041 2,705
EHREEE 34, 333 34, 333 0
X F 38, 291 38, 226 65
#E 66, 126 55, 958 10, 168
MEE 92, 252 52, 731 A 479
EEE 2,538, 146 2,749, 493 A 211, 347
aHFY 4178, 800 464, 835 13,965
REHRTER 417,614 42, 560 5, 054
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M = LEE I B 1B R
BAIELE 19,716 18, 530 1,186
e 950, 505 1,057,907 A 107, 402
REXEE 49, 346 41, 656 1,690
BIEEWRE 152, 406 158, 281 A 5,875
HEARERE 2, 346 529 1,817
HEME 24,635 25,797 A 1,162
SEY: N 46, 490 136, 654 A 90,164
FEKHE 10, 008 10, 559 A 551
BfEH 19, 002 719, 002 0
XhREE 59, 241 59, 241 0
EitE 8,718 8,718 0
BHERE 142, 844 130, 167 12,677
)—2Z% 32,022 31,607 415
EBmMEES 5, 267 5, 267 0
ZHILFHH 86, 394 127, 638 A 41,244
M OB 8,104 16,176 A 8,072
MEE 4,628 4,309 319
EBRRE 270, 000 270, 000 0
(&% & A &t ] 10, 815, 389 11, 566, 792 A 751,403
T 18 28 <5 5 B Al L HARE 1B R AR A 146, 920 A 1,193,816 1,046, 896
Bl ey 0 0 0
LR EIRREE A 146, 920 A 1,193,816 1, 046, 896
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[ #& % 4 I &= & ) 0 0 0
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(BE SN 8RB E] 0 0 0
LR ESMERER 0 0 0
Fi5 | BT 2 57— AR IE R BA EE 1R IRLEE A 146, 920 A 1,193,816 1,046, 896
EAB ERBRUVEER 71,000 71,000 0
L — AR IE AR B4 EE ISR EE A 217,920 A 1,264,816 1, 046, 896
(—REKRMENREERS] 15, 525, 108 16, 790, 524 A 1,264,816
(—RIERMERRER] 15,307, 788 15, 525, 708 A 217,920
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ZMEREF 4,125, 600 4,044, 800 80, 800
ZMEREMRE 4,125, 600 4,044, 800 80, 800
—IRIEKME~DIREEHE A 4,125,600 A 4,044,800 A 80, 800
—MRIERBA E~DIREEE A 4,125,600 A 4,044,800 A 80, 800
L HA4E E IERREA 1R REE 0 0 0
({5 ERMENERSE] 0 0 0
(455E IERRRA E R Z ] 0 0 0
ERRMEHRES 15,307, 788 15, 525, 108 A 217,920
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